TILLER STEERING

SHIFT CABLE ASSEMBLY

) EVINRUDE / JOHNSON
R MODELS L60,R,AB, AF
% STARTING |98

118 SHORT
179 LONG

REF |QTY|PART No| DESCRIPTION ,
Lo 549 CABLE 3 /2 FT MOR 33C SUPREME SHORT
I Y Y CABLE 4 FT MOR 33C SUPREME LONG
21 1 156 BRACKET CABLE SUPPORT
3| 2| 542 SHIM MORSE A035777
41 2 1 543 CLAMP CHRYS 154317
St 4| 561 FIL HD SLOTTED 10-24 X 5/8
6] 4| 635 | /4 WASHER AN960C416
1) 41 572 BOLT HEX HD 1/4-20 X 5/8
8 41 619 NYLOC 10-24
91 2 | 621.1 HEX NUT 10-32 JAM

10} 2| 553.2| BALL END 1/4X10-32 CABLE
PHo 283 BOLT HEX HD 1/4-28 X |
12) | 624 NYLOC 1/4-28

13 1 175 BRACKET CABLE L50C

b4 2 | 638 WASHER SPRING LOCK 1/4
5] 2 | 628 NUT HEX [/4-20

16} | 1285 GUIDE-T BAR HANDLE

[7] 1 1284 SPRING, T BAR HANDLE

18] | 381 BOLT HEX HD 1/4-20 X 2 3/4
(91 | 1176 PLUG HANDLE L50C

20| 1| 623 NYLOC 1/4-20

6.AUG. 9T

- 22 -




